SuMPO EPD
F1TINBREES
BHRES © JR-AI-26037E

SuMPO

EPD

AAAAA

VERIFIED

BEE
Hml1ashreh
BEN RERE
LE=iSi] COFRfER4

[RAA R REER B . AEEE R, TR
EIREPE. R - UDA IV ERE

BERPE, (A - HEES

HEmOBRA, EEMHHR-F
B : DS-1730

FE(LHR

IS5y My REVTEE R R FiHEXD (ADF{TE)
mtESR2A

B 2+ v iRE (A44E) - FE30ppm/ME60ipm
mEAREYAX 1 215.9%3,048mm

m SSERARAREE : 50~1,200dpi (1dpiZld)
mXFv>H ¢ CIS

3&
dl

XABMRE, AERAEITT
XAERE, EPDICEEDZELBERELHLTHY
ERRE DB AICIIWeb 1 MM EERER LTSV
FLWEbhiEk
11-I1VUBkAEH
REEHFTAN=T B3&ESS

BREES

(EPD)

SUMPOIRIESANIVTOT 5 s
—MRAEEFEATRAT TR EHEEAE
RREBFRHEXAHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

EPSON

AARFIAY MRV F—

A4 Document Scanner

DS-1730

ERES JR-AI-26037E
EAPCRES  PA-590000-Al-08
PCR% BR A DR
NES]S 202658 15H
RIALEHEA  202654816R
REEA = VATLFEEA R
RIEES EIR-25-001
RIEEHARM 20314648158

PCRLE1-DETE
REBZE 20234 978 18
ZER #mlF Ex
— A EIEAT AT IR E HEEAE
B=EIRTE"

HERIRFEE —MEEEABARERIEES B8R

ISO14025(C e RE E R UT -5 D3RI LR EE

CRER WA B
*YATLARIEZ - EEENORTIOEAE, VATLARIATLEEED
ZEERH.

https://www.epson.jp/contact/

0266-52-3131

Z5H&ES ¢ JR-AI-26037E



. SuMPO
. vsp.é‘.?:?

JR-AI-26037E

SuMPO EPD
F1TNBEEEE (EPD)

SUMPOIRIEIANINTOI T s
—MRAREAY AT T IR S HEEEAE
BRHATREXAHEET-14-8

KANDA SQUARE GATE
https://ecoleaf-label jp

51791 VIV R &l R

RRIAERR | BLERR TR R B {E?Q';;f 5 FEEEERBE
SURZE) - &5 kg-COzeq 2.97E+01 2.06E+00 2.55E+00 2.24E+00 4.84E+00
SUBEEH - L RmER kg-CO2eq 2.96E+01 2.06E+00 2.49E+00 2.23E+00 4.43E+00
SUREEE - £’ kg-CO.eq 4.84E-02 1.67E-03 2.91E-04 9.60E-04 4.05E-01
SUBEEH) - LA AROHE? kg-CO2eq 2.76E-02 5.02E-04 5.20E-02 8.35E-03 1.74E-03
AUV BRI kg-CFC-11eq| 2.31E-06 3.31E-09 3.32E-08 3.08E-09 3.22E-08
EHREL kg-PO.3-eq 1.38E-03 1.16E-07 7.58E-08 2.26E-07 1.88E-06
[izyc e kg-SOzeq 3.73E-02 1.71E-02 3.81E-03 1.35E-02 7.87E-03
HALEAFIIVE kg-CzHseq 5.96E-04 7.51E-07 1.07E-04 1.35E-06 2.01E-05

BMATYAYOIM TV EIRIE

FEEME RIS - $E1 kg-Sbeq | 5.10E-02 | 1.58E-07 | 2.89E-06 1.87E-05 2.36E-06

X1 1 RIEBIZFIS021930:2017 TRESND[ 51 THA VA YRV M BB R -FEEMER- L RMARL RKOHBE R, CO20HHEBLUBREE |0l EE TR TERSNIBETEIRLY RN
SOBEEYOIAECLZBEHE (Emissions from combustion of waste from renewable source used in producuion processes) . kU £ E T2 TERAINZB AT A RELHEIGTRN S OB DOIAKE

[C&ZHEH (Emissions from combustion of waste from non-renewable sources used in production processes) 1DfEREEHET

X2 1 AIEBIZ}1S021930:2017 TRESNB[ 51 THA VA YRV USRI R -FEME R BIREL JoKOBE R, CO20BHEBLUBRER |0 AN-ABROEMRFRREHRICEE
FEHRESKIUBEE (Removals and rmissions associated with biogenic carbon content of the biobased product) |, RUTNIAR-Z/\wT-I VI DEYRRRRESHEICEET 3BRESLUHEH
(Removals and emissions associated with biogenic carbon content of the biobased packaging) JDfERZ&HFT

3 1 RIEBIZFIS021930:2017 TRESND[ T THA VA YR M H I EEER-FEEMER- LR RKOHER, CO20HHEELUBREE | Ol LA AEMNSOBEE (Emissions from

land use change) |D#EREEHET

SATY1 WA IRV ) 3 REEBR

—REROFERHICEET 36512
el s . . A - S
FERIAEZERR | ELEER TR B e BEZEELRE
'3
BERRE—RER - IR)F- (RPRp) mJ 7.64E+01 7.60E+00 5.53E+00 3.05E+01 4.30E+00
BETRE—REE - IRLF-2EHH (RPRy) MJ 2.18E+00 2.60E-04 1.16E-04 3.28E-04 1.05E-03
EFETRE—RETF - IRILF- (NRPRp) MJ 4.51E+02 2.25E+01 3.84E+01 1.63E+02 2.08E+01
FBEATE—RER - TRVF-S5ME (NRPRy) MJ 8.05E+01 2.17E-02 6.81E-03 2.50E-02 2.71E-02
ZREROERICEES 31512
. s A - S
BRRIEERR | BLEERE TR B e BEEEELRE
2.4
ZRME MJ 1.25E+00 8.31E-04 7.23E-04 4.20E-03 6.98E-04
BAERREZRIAR MmJ 3.59E-01 1.67E-03 7.25E-05 3.65E-03 4.67E-03
FEFAE R BE ZRIREL MJ 4.23E-01 5.36E-08 1.83E-04 0.00E+00 3.95E-02
BKDHEE MJ 2.96E-01 7.86E-08 2.89E-02 3.91E-10 2.24E-02




REEYEERER

FREERE | NEEE | hEgE ﬁ?l’;‘:ﬁ g

X
EERZY) kg 3.52E-01 7.53E-03 3.32E-03 6.53E-03 1.42E+00
BNV ST FEEY) m 4.27E-10 3.62E-13 3.38E-11 4.41E-10 2.63E-11
PR LMELAI RS EEY m 1.79E-07 1.52E-10 1.42E-08 1.84E-07 1.10E-08

BEERRCEIZEMER

BFOAmETE ek
FREREOETEAE (YFUA) X
- 1EFEE : 64%/8 8AFvY/H)
-1hBoOBEIHE - 208/8
- 1EOBRE HEK - 2408
- AEFEREARA  5&E
- FRSTHNVMEL © 76,8004 (9,600AF ) /54
KERBEOBREECOVUL. I-Y-0RERAFHLCEDEL LRORSTYFUARRELE, FH - HIFTEERETHEL BB,
B LORRICEEDHEN,

ZOtDIRIZEEEFR

O A GO A E L TEEMOEEL, 1SO14001FREEEE TIH TITHNTVET,
OE B IRIF-RAF-T0I5LVer3. 10 BEH ELTWET,
@RUHROHSIESICHEAELTVNEYT,

ERALEZRT-IDEXS

MR8 (ERZY) BT IDEA v3.4.1 BLU'SUMPORIEINI 0TI LB SRR EAIv1. 165ERALTVET

Zmi 0.331 kg

SUS (RTVLA) 0.021 kg
TIVIZUL 0.001 kg
Z0tERE 0.179 kg
TIAFYY 3.129 kg
myN 0.050 kg

H3A 0.761 kg

- A 0.002 kg

EE R EAR 0.152 kg
Z0ft 0.181 kg

OT-IHEEDHEIE. PCRELVETE - EERBESTBL T,
OLRIIOVTE, BEE - EERBICHESNERGEHLLEBEICLYIRDONEEA,
(BEBURL : https://ecoleaf-label,jp/regulation/)



